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Public Administration

Paper 1II

TRYIITTET
gyutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U1 3Ted. @d U Wred.

AT : A GLAYehd THUT IR (100) Tgaarht Tvd ot oTed. Toieh Jemen & (2)

Who viewed Weber’s bureaucratic
model as a “paradigm” of Public

Administration ?

(A) Michael Crozier

(B) Dwight Waldo

(C) Herbert Simon

(D) Mary Parker Follett

In the field of comparative public

administration who amongst the
following have conducted empirical
studies of bureaucratic behaviour
in different social and cultural

perspectives :

(A) Robert Presthus and Michael

Crozier
(B) Pffifner and Presthus
(C) Peter Blau and Warren Bennis

(D) Miller and Rice

IV A, 9o Id Aehel Iy 3§

R IR AT 38 ?
(A) HITHA IS

(B) omEe aeel

(C) B HFHH

(D) A 9hT Hice

fafay s o Aepfaen giemMRH

T TRYRTEATE IRl ST
FAYAHE A HIVT bl ?

(A) Ve Jmeg Sftr g HISHeR
(B) freTt enfor gged

(C) WX =it emfon ara S

(D) foer emfor wEa

[P.T.O.



Problems of contemporary research
in comparative public administration
are ........eee.....

(1) Research focus is mostly on
reforms and accountability

(2) Lack of theory and thoughtful
methodological approaches in
research

(3) Mostly relies on secondary data

Answer the question using the codes
given below :

(A) (1), (2) and (3)
(B) Only (2)

(C) Only (1) and (2)
(D) Only (3)

The bureaucracy at the policy
making level is, to a remarkable
extent, neither permanent nor
professional in :

(A) USA (B) UK

(C) France (D) Japan
Which is the smallest unit of rural
local government in United
Kingdom ?

(A) Parish

(B) County

(C) Borough

(D) Both (A) and (C)

Which of the following are
important elements of development
administration ?

(1) Goal oriented
(2) Planned

(3) Participatory
(4) Innovativeness

Select the correct answer from the
codes given below :

A (D), (2), (3)
(B) (3) and (4)
(C) (1), (2), (3) and (4)
(D) (1) and (2)
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qeTIcTeh TR IR SHeRIG HeNeA
W .................... 311%..

(1) weNeAr a8 q&ad: GURo o
EiRHIRICIET
(2) weieAE o et foemge®

TGSk gfteehAman 34
(3) H&Ad: A Hifgdlar STHmRd
@elt foeiel Gehdish AMI& JEATE 3T
W o
(A) (1), (2) @i (3)

(B) &de (2)

(C) =da (1) 3fur (2)

(D) ®d (3)

it feritor wWReR I Q9
TRTSTE! B 5T TR hIEm= ST AT
e[ THd ?

(A) 3T (B) IF

(C) ®rH (D) SUE

FAECE fohTTeHTeE THIvT TR ST
TId R TSH hivl M ?

(A) dfe

(B) i&dl

(C) =

(D) <= (A) @ (C)

foreRTe WRTIIAT ETeTetieh! Shivfd Hewrqul
I 3ed 7

(1) PE-whfsd

(2) frafsa

(3) wewri

(4) Tfa=rquian

@l feiean Hendrenid ard SW et ¢
(A) (1), (2), (3)

(B) (3) smfur (4)

(C) (1), (2), (3) =7fuT (4)

(D) (1) &7fon (2)




Match List I with List IT and select
the correct answer from the codes
given below :

List I
(@) USA
(b) UK
(¢) France
(d) India
List II
(1) Ecole Nationale d’ Administration
(2) Civil Service Commissions
(3) Union Public Service Commission
(4) Executive Personnel Department
Codes :
(@ b)) © @
A @ @ @O 3
B @O 2 B @
<o @ & @ @
D @ & @) (@
Assertion (A) and Reason (R) :

Assertion (A) : The RTI Act has led
to enabled citizens.

Reason (R) : The citizens can
question decisions
and demand answers
beyond what the
government chooses
to disclose voluntarily
to the public.

Answer the correct question using
the codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) 1s false but (R) is true
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=1 I ded e 11T S[esar ST

S ?ﬂ?ﬂ wﬂﬁa@n :
g 1

(@) STHRER

(b) ¥

(c) W

(d) Ya
g 11

(1) T TeHa € sfefafreym

(2) T Fel AN

(3) U ok ar AN

(4) HERN HifHE faum

Hehdieh :

(@ b)) © @

Aa @ @@ @O 3

B 1 @2 B @

© 2 B @ @

D @ B ©@ @

faum (A) &fn &R (R) 91 ¢

faam A) : RS FwEEHe
AFTRERTE! HEHTRT S 3T

FHRUT (R) : A7 fAoiaremed g9+
IUREYd HIAd add IMEA
o3 IHE Sholedl HIfadi-
ey SAfYes AU wHdm.

Wil Teadrerel IR e g W e

F@H’I'T:E :

(A) SI=T (A) 71 (R) SR 318 9 (R)

T (A) 9 I7g WEIRT R

(B) TGl (A) for (R) S&R 318 W
(R) ® (A) 9 a7 TqLEIHL RN

(C) (A) SIU=R 317, 907 (R) § I 3R
(D) (A) I% 3T, 997 (R) ¥ SR 3T

[P.T.O.



10.

11.

12.

13.

This is a basic ingredient of the
social responsibility of industries and
business :

(A) Business Development
(B) Industrial Productivity
(C) Corporate Ethics

(D) Corporate Effectiveness

Which one of the following is not a
step in social audit ?

(A) Clarifying purpose and goal

(B) Identify stakeholders

(C) Definition of performance
indicators

(D) Training on social audit
methods

Under Policy Resolution 1948, it
became the exclusive monopoly of
the Central Government :

(A) Ship building
(B) Railways
(C) Aircraft

(D) Iron and Steel

Restructuring economy wunder
Liberalisation, Privatisation and
Globalisation Policy (1991) has
influenced :

(A) Equitable economic development
(B) Centre-state relations
(C) Nature of mixed economy

(D) Underlying of the
Constitution

A departmental form of public
enterprise is characterised by :

(A) Administrative autonomy
(B) dJuridical nature

ideals

(C) Independent personnel system
(D) Executive creation

9.

10.

11.

12.

13.
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B SISO ST aT=al ATaTh
SAEERET TR ¥esh 3T :

(A) =Haa™ fasm™

(B) oiEifih 3cuceh

(C) 2ie=nfier Afaerar

(D) 2i=fiter gefarsfieran

Eeilcueh! hIvMT Teh 20T HTHIISToh
ST efuTCel A& ?

(A) =G ST A= TR

(B) YRS 7@

(C) wmi=n feveht e
(D) GrHIfSTeR 2TheTon Ugdl Gt widrero

1948 =1 HR0T AT HIETHNA Hha-
SIS ShI0TCT &5 U1 TEhITEehR T

?

:

(A) Sere T

(B)

(C) TaHmA

(D) dEE o 9

IGRIHITT, CSIhRT0 30T SIRTfehT-
SHIOTAT (1991) AT SR T
T hIUAT SRR ST 2

(A) FaR enfefer faemmmeR

(B) &3-TsT GaHmER

(C) g1 rfTeod=a e

(D) dfaumr=n qayd STeeer
fauria wEudia gesbe STsham
ofyr= o ?

(A) WRTEHE W

(B) faet @&y

(C) T HHIN] HaEe

(D) Rt fAfHd




14.

15.

16.

17.

The accepted role of public
enterprises in the 20th century was

to facilitate :

(A) Competitiveness

(B) Planned development
(C) Public welfare

(D) Economic stability

Sale of a particular division or assets
which are not compatible with its

core business is called :
(A) Privatisation

(B) Disinvestment

(C) Divestment

(D) Investment

The Economic basis of poverty
among forward classes was first
introduced for reservation by the
government under the Prime

Ministership of :

(A) Jawahar Lal Nehru
(B) Lal Bahadur Shastri
(C) P. V. Narsimha Rao
(D) Narendra Modi

The budgetary role of the US
through
Management and Budgeting is in

President office of

nature more :
(A) Financial
(C) Political

(B) Managerial
(D) Balancing

14.

15.

16.

17.
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20T eI TSk Sqshar= et

TR HITATES Bl

(A) Tgufcashar

oo N o

(B) T=ifsid faenrg

(C) WESIeh el
(D) emfefer feera

Tes IUMRM GO THed fasie fawmr
fohen duxien fasl oS

INRCIERIETU

(D) ek

Hata Tt I GAWLTHTA et
AT R Sidial QIgarean STfes
FreReeR sTReummed Faiforse el ?

(A) SR 8%

(B) <l W@y St

(C) d. =& e =

(D) s =i

TR TLTRIT=AT LA ST

F1fHHT FHRCHATA AT ST

NAGRI YfFehe e § Afeh 3T ¢
(A) faxi= (B) HIEAUH A
(C) USRI (D) wgfed

[P.T.O.



18.

19.

Match List I with List IT and select
the correct answer from the codes
given below :
List I
(@) Disaster Management Act
(b) National Disaster Management
Plan
(¢c) National Disaster Management
Authority
(d) Sendai Framework
List II
(1) Ministry of Home Affairs
(2) Disaster Risk Reduction
2015-30
(3) 2016
(4) 2005
Codes :
(@ b)) @ @)
A @ 3 QO @
B 2 @O @ 3
e 3 2 1 @
O 1 @ 3 @
Match List I with List IT and select
the correct answer from the codes
given below :
List I
(@) Central Board of Direct Taxes
(b) Central Board of Indirect Tax
(¢) Central Board of Excise and
Customs
(d) Income Tax Department
List II
(1) Policy formulation regarding
Levy and collection of customs
and excise duty
(2) Assistance in policy making
related to GST
(3) Provides important inputs
(4) Income assessment
Codes :
(@ ®) @ )
Aa 3 @O @ @
B 2 @ 3G @
< 2 B 1 @
D @ 2 @O O

18.

19.
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gt 1 Hierd gt 1T S[esan i @efta
Fehdlehlqd 4rd e fael .
g 1
(@) ST HATATIT HIIS]
(b) TS SO HALIA AT
(c) TS ST Heearad e
(d) T=i dihe
gt 11
(1) TE "
(2) U &Rt e 2015-30
(3) 2016
(4) 2005
iy
(@ b)) (© @@
A & @1 @
B 2 O @ A
e 3 @ 1 @
D 1 @ @ 2
el 1 9 It 11 oo s7ifor @i
HehdTehIqd AMT I TSl .
I
(@) & FUGSt Had HSB
(b) TIAY FAHAH HEF DB
(c) STeRI 3T T et a1y Hees
(d) 3= HT faum

gt 11

(1) T 3707 SR hT el HLod1-
Geiel HoTeRss i e

(2) %%Twﬁ%ﬁwﬁa’r{m@w
(3) W™ 3TgH JRfam

(4) I HAThRA

(@ B (© @
Aa & O @ @
B 2 @ & @
< 2 6 O @
D @ @ @O 3




20.

21.

22.

23.

Auto termination of a law after a
specific date mentioned in its parent
statute is called :

(A) Executive legislation
(B) Subordinate legislation
(C) Sun set legislation

(D) Delegated legislation

“The social welfare policies lack an
integrated approach and direction.”
Who commented ?

(A) Renuka Ray Committee, 1958
(B) Committee on Child Care, 1962
(C) Ranade Commission, 1967

(D) National Expert Commission on
Women, 1987

Kaka Kalelkar Commission was
appointed by the Government of
India to determine the criteria for
identification of :

(A) Population below the poverty
line
(B)

Socially and educationally
backward classes

(C) Economically backward upper

castes

(D)

Socially and educationally
backward communities

According to whom “social change is
automatically determined by
economic factors” ?

(A) Karl Marx

(B) Sumner and Keller
(C) Maclver

(D) Jenson

20.

21.

22.

23.

JUN - 21219/11—C
He Afufamrdia Fqg soean fafemse

AREAY hIacIT™ I THTE [ L0TTY
Y WU M.

(A) FEER faum

(B) =M faum

(C) garw faum

D) v faum

IO Hd, WTHEISh hedro  Siond
TehlfcHeh gftesh oTifor fesen stame
AR ?

(A) ot X gfHdt, 1958

(B) =T E9A 9fFdl, 1962

(C) TS =M, 1967

(D) Hfgem Teet T dFdr TE,
1987

TR HIATRT AN AHIR A

N AN A o
AXehRgI Cllcqlddlen] anRll=dl [dn b

(alla [

fyadieR oS a3l ?

(A) TRGE TrEma dRde

(B) wrfSeh o7 Reafores ARG
(C) =nféfer AFIE I=d STt

(D) ISR 37Ifor Saffores HrTE HarS

‘gt dd WEEiaquul sTfie
TehigR HuUiRd Sal Sad’’ 18 I
U ?

(A) =T A

(B) AT AU sher

(C) Hepuar

(D) STEA

[P.T.O.



24.

25.

26.

Assertion (A) and Reason (R) pattern :
Assertion (A) : Affirmative action
consists of a set of
antidiscrimination

measures.

Reason (R) : It provide access to
preferred positions
in a society for
members of
excluded or under-

represented groups.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Reservation for citizens falling in
backward classes has been permitted
under the Article :

(A) 13 (D (B) 16 (4)
(C) 19 (2) (D) 338

The major objectives of tribal
development do not include :

(A) Elimination of Untouchability
(B) Elimination of Exploitation

(B)

(C) Infrastructure Development

(D) Human Resource Development

24.

25.

26.
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faum (A) sfr &wRo (R) 91 ¢

™ (A) : FERE TR SvE-
ToRreft e S SHesT
Brdl.

T afea feran st wfaffaa
T IS HTET=-
TEER JO YR

Ul (R) :

Hehdich :
(A) (A) 9 (R) Sal seR ATed, 3Tfur
(R) ¥ (A) 9 Irg TRIHI 3T

(B) (A) 3Tfor (R) SIF8! aeR 3Ted g

(R) & (A) < I TILEIHI0 T
(C) (A) T sUsR 318, 977 (R) & < 3T
(D) (A) T IH 3T, 901 (R) & IR R
AR T MRS STRET Weietient

HIUTCAT heTHl STavid SUamd 3T 378 2
(A) 13 (1) (B) 16 (4)
(C) 19 (2) (D) 338

(a) ~

arfearet fashm™ @Tefieish! hIvd
AT 3qarse A@id ?

(A) sregeaar FreH

(B) v e

(C) urEnyd gfawumn faerd

(D) AFEE gEeH fae™

10



27.

28.

29.

Assertion (A) and Reason (R) Pattern :

Assertion (A) : The Ministry of
Social Justice and
Empowerment is
the Nodal Ministry
for overseeing the
interests of the
scheduled castes.

It protects them
from social injustice.

Answer the following by using the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) 1is true but (R) is false
(D) (A) is false but (R) is true

‘In the happiness of his subjects lies
his happiness, in their welfare his
welfare’” who stated ?

(A) Arya Bhatta

(B) Kautilya

(C) Vivekananda

(D) V. Ramaswamy Naiker
Consider the following statements :

(1) Rural development is a strategy
to improve the social and
economic life of the people living
in villlage.

Rural development focus only
on social transformation.

Which of the statements given above
is/are incorrect ?

(A) Only (1)

(B) Only (2)

(C) Both (1) and (2)
(D) Neither (1) nor (2)

Reason (R) :

(B)

(2)

27.

28.

29.
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faum (A) sfn &R (R) T ¢
faeam (A) : TSR = 3o st

Ao STEfe S
. AH U

itoiee e SR,

WIS SRR o

T .

TTete Fehdieiqd arg 9ag faer .

Hehdloh

(A) (A) g (R) SI=t IR 3TTed, 3T
(R) & (A) = a9 TS0 3T

(B) (A) 37for (R) St sRIsR 3Ted Tl
(R) T (A) = A TR el

(C) (A) TR TR, 907 (R) B e 3
(D) (A) ¥ = 3T, 901 (R) T IR TR

IO A/ ; * IST=T ST g 3THS
N N LN
IEA J YSTAT HIUNd D HedTol

s 2

(A) sTEwE

(B) aifee

(C) fadrere

(D) fe. o AEE
wreie faumren faem &3 .

(1) TSI ek 9rHTtsies g el
St GURUATETS! AT foehm &
T T TR

(2) T TR Shales FHITSTeh TUIARUNeR

Y higd .
FeTRT v e/ fem <o 371 3Ted 2
(A) Haxa (1)

(B) Haa (2)
(C) (1) enfor (2) =t
(D) TrEITeh! HIVQET &I

R0l (R) :

11

[P.T.O.



30.

31.

32.

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(@) Social Justice
b)
(c)

(d)

Social Change
Social Welfare
Social Awakening
List II
(1) Government programmes
(2)
3)
(4) Mass mobilisation programmes
Codes :
(@)
(A) (2)
(B) 3)
< 2 @ @O G
D 1 2 @ Q)
Which of the following is not a part

of policy typology developed by
Theodore Lowi ?

(A) Distributive Policy
(B) Regulatory Policy
(C) Constituent Policy
(D) Patronage Policy

Equity
Moulding public opinion

®)
3)
(1)

(c)
(1)
(2)

(d)
4)
4)

Public policy is whatever governments
choose to do or not to do :

(A) Thomas Dye
(B) Lindblom Charles
(C) Harold Laski
(D) David Easton

30.

31.

32.
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et 1 o et 11 Sose 37101 @reftel
Hehdlshlgqd Arg 3’ ferer .

T 1
ISR =
HHIS e
AT heTol
S IRIISEMSINRR]

gt 11
IMEhT IUHH
HHAT
(3) rESeh HAMT SAHR <0
(4) SM <A HTHA
Hehdich :

(@)

A) (2
B) 3
< 2 @ @ ®
O D @ @D 3

foetfer dreie farfaa soaea 9mey
o N o
Y= Wefiaideh! Ueh 4T A& :

(A) fomumes gru

(B) ToTcHs &R

(C) ¥ ERu

(D) oTfHa R

HIUTAT A7, e SR TS

AN 1 U fohal a0 & 73 9=
free’ ?

(A) 9\H SH

(B) diesa™ =mei¥
(C) ¥ee ofreant
(D) e=IE &=A

(@)
®)
(c)
d)

(1)
(2)

()
3)
(1

(c)
(1)
(2)

(d)
(4)
4)

12
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33. Who decribes policy analysis as | 33. ‘S=ier HMem=a AN Yfqde’ I
“The Thinking Man’s response to gor faeeeor 318 U GaEd 2
demands.” ? A) e S
(A) David Easton
(B) Pareto (B) tl??ﬁ
(C) Thomas Dye (C) a°d <™
(D) Fred Riggs (D) ®e I

34. Process approach to the study of | 34. TSI GROT ST Yk g
public policy is advocated by : qRERAT g B
(A) Thomas Dye (A) 9mF M
(B) Harold Lasswell (B) Tes dArEad
(C) Yehezkel Dror (C) = 3R
(D) David Easton (D) efwe dwd

35. The Garbage Can Model of policy | 39 W fAftfdire TRersi-s e
making is developed by : T forehfad het.

(A) James Marck and Johan Olsen (A) S Hih 30T S AT
(B) Amitai Etzioni (B) 37T Tferedt

(C) Carol Weiss (C) +dA a9

(D) Aaron Wildvasky (D) A faeeaent

36. In the outside initiation model of | 36. Wga fAfHdrean M@ YerR UfqaMw
agenda setting issues arise in : HES J|gHg T Bld.
(A) Within the government (A) TTEET
B) Non-gov.ernmental .groups B) TR R
(C) Influential group with access to . .

policy makers (C) &R fwicarelt Haferd gl TTera
(D) In policy analysts contribution (D) #Ror faveroahr=A ANEH

37. Who is considered as the most | 37 «Rur=n AHeSTOUE Hald He<am=
important actor in policy imple- siFdl FTE qEE S 2
mentation ?

(A) Political leaders (&) w
(B) Non-governmental actors (B) TR-¥mEehtd sHfuehd
(C) Bureaucracy (C) rehtmet
(D) Political parties (D) TShg T
13 [P.T.O.



38.

39.

40.

Which of the following is a constraint
on rationality in public process ?
(A) Directives of executive
(B) Objectives of the constitution
(C) Conflicting demands
(D) Multiple administrative units
Match List I with List IT and select
the correct answer from the codes
given below :

List I
(@) Lasswell Harold
(b) Dror'Y
(¢) David Easton
(d) Lindblam Charles

List II
(1) The policy making process
(2) A framework for policy analysis
(3) Public policy making re-examined
(4) A preview of policy sciences
Codes :

(@)

b)) @ @@
A @O @2 3 @
B 2 B @ @
< 3 @ @ @
D @ 3 @ @
Assertion (A) and Reason (R) Pattern :
Assertion (A) : Government data
and reports matter
in policy problem

definition.
Reason (R) : Feedback provides
information on

current performance
and unanticipated
consequences.
Answer the question using the codes
given below :
Codes :
(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)
Only (A) is true, (R) is false
Both (A) and (R) are true, but
(R) is not the correct
explanation of (A)
Both (A) and (R) are false

(B)
(©)

(D)

38.

39.

40.

JUN - 21219/I1—C

WICATeTeh! hIUTT SIZehTel ?
(A) FERRA feer
(B) ST QY]
(C) Hersifcaes  ARTOAT
(D) TEURMHRIT Th
T 1 Fiera = 1T S[esan i @eta
TR I Ik Feer

I

(@) AHEA 8BRS
(b) g 9™
0 S F
(d) cfllv-sotflll‘-l{l;#cfw

11
T ifasl ARl Wog
H HHIS BR UferE Tefad
fscter Tifdt AT A<
¥ Yogg 1 wifer el |rE
“®)

2)
3)

(1)
)
3)
4)

(@)
A D
(B) (2)
©c B3 @ @ @
D @ 3 @2
faum (A) sfr R (R) 91 ¢
g™ (A) : URUTHS U= SRS
TIEeh 191 Hifgd! ST 3T8dTe
g 3.
ThiSsleh HIthd T MR
afIfor eTufera 9fomHTST
et fHead.
@l feotel Hehdieh a9%d YT ST
o oe
H@ﬂﬁﬁ :
(A) TG (A) 3T (R) SR 3Ted T
(R) B (A) ¥ Irg TR 3R
(B) da (A) S 3Tg, (R) T I T8
(C) T (A) 3fr (R) sRIsR 3ed, Ul
(R) ® (A) ¥ I TqEIh0 A&l

(D) 3= (A) o1 (R) Ik 3Ted

(c)
3)
4)

(d)
4)
(1)

Rl (R) :

14
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41. According to Kautilya, which one of | 41. wifecd Ir=a1 Hd @eiicTdeh] 10
the following is not a set of principle TAMES qodTe Hgwaqul T[UIeH FHERH
which embodies the essential e ?
attribuFe .of a stat.e .: . A) 2 Y T
(A) Principle of division of labour
(B) Principle of authority (B) =it “l[ﬁl [ d
(C) Principle of responsibility (C) STAmEeRE T
(D) Principle of discipline (D) fr= @

42. Which one of the following is not the | 42. @reiiciich! ShIvMET STHITEATE eie) ﬁq\
main aspect of Governance ? e ?

Eg; EuI}ctionality (A) FEteHRD
rforman
erformance B) £

(C) Political nature

(D) Outcomes (C) T &

43. What is not true ? (D) et

(A) Disastex_‘ Management Act was | 43. & ®R A&l ?

passed in 2005 (A) STIH AL HEGT 2005 T T
(B) National Disaster Management el

Plan is based upon Sendai (B) T R SR A @

Framework PR

. B | it | ) | EG e |

(C) Sendai framework for DRR

2015-30 is an agreement (C) ¥Tewt =% DRR 2015-30 31 T
(D) Under UN India is not a l, R 3“%, .

signatory to the Sendai (D) HFHRI TSI R HACTET Hre

agreement EIEINEEI

44. Which of the following is not a | 44. @AY H! HITA Th T A9 Al
feature of New Public Management ? R Jfyrses] AT ?

(A) Managerial Autonomy in (A) < SHEEATIATIA  STTLATIh
Public Management IR

(B) Process-Oriented Administration (B) EIEIﬁ?ITﬁJH@ ERUESEI

(C) Output Oriented Administration (C) IURATYHE YLMEA

(D) Providing high quality services (D) I=3 TUE Fen qRfau

45. In good governance, perspective of | 45. HIMHTId, I FO!quHI\t\i g foeani
sustainable development must rest Qe edeh! ST HehoUdal 3T
on the concept of : TEd ?

(A) Accountability (A) ST
(B) Efficiency (B) Friemyam
(C) Rule of law (C) IS IMEA
(D) Strategic vision (D) FREAHS ('éba
15 [P.T.O.



46.

47.

48.

49.

Transparency is built on :
(A) Equity

(B) Consensus orientation
(C) Free flow of information
(D) Cooperation

Second Administrative Reform
Commission has mentioned ‘Master
Key to Good Governance’ for :

(A) Crisis Management

(B) Unlocking Human Capital
(C) Right to Information

(D) Public Order

The term ‘Public Value’ was first
coined by :

(A) Mark H. Moore
(B) Timo Meynhardt
(C) HHL Leipzig
(D) Peter Self

Match List I with List IT and select
the correct answer by using the codes
given below :

List I
Civil Society
Plato
Thomas Davenport
R. Shamasastry

List II
Business process re-engineering
Arthashastra
(3) Philosopher king
(4) Third sector
Codes :

(@)

(A) (2)
(B) 4)
©) M
(D) 4)

(@)
b)
(c)
(d)

(1)
(2)

®)
3)
3)
3)
(2)

(c)
(1)
(1)
(2)
3)

(d)
4)
(2)
4)
(1)

46.

47.

48.

49.

JUN - 21219/I1—C

‘IReeieal’ wyaER fEia s ?
(A) FHa

(B) waHdl Afe

(C) wifedten o YaTe

(D) wewrd

S AT YIMERTE GUR STR—ATH
‘T Efhed! 3T THE ol
(A) Hhe HITTCIH

(B) HAMel "redar= Ha

(C) wfedr=n SRR

(D) WS e

oSt e’ € wR ufeedian il
el ?

(A) # TE T

(B) femr o erd

(C) TH. TH. A oA

(D) X Ah

=t 1 9iad g=i 11 Segar 3T @i

S ?ﬂ?tr wﬂﬁa@ﬂ :
gt 1

(@) TR FET

(b) =i

(¢c) o9 Swur

(d) AR TS
gt 11

(1) =™ Yishan gA-Afv=frent

(2) AfITEA

(3) TRifTeR Tl

(4) fomR &=

Wehdleh :

(@ b)) © @

A 2 3 1) @

B @ B Q) @

< @O B3 @2 @

D @ 2 3 @

16



50.

51.

52.

Assertion (A) and Reason (R) Pattern :

Assertion (A) : There is an
overlap between
e-government and
e-governance as
competing paradigms.
E-governance is the
process of enabling
governance experts
using information
and communication
technology to make
governance effective.

Reason (R) :

Answer by using the codes given
below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) 1s false but (R) is true

Who put forth the ‘Empirical
Approach’ ?

(A) Machiavelli

(B) George Holmes
(C) Mark Abraham
(D) Thomas Moore

Inductive Research is related
O el

(A) Theory building
(B) Theory testing
(C) Hypothesis testing

(B)

(D) Research design

JUN - 21219/11—C

50. faum (A) sufor &Ro (R) T :

51.

52.

faam (A) : wfemedt wfomm =vE 3-
A eATfor 3 - SfrvTEA

AT T SATTehdl 3TS.

B RN R A e 1 | S
SiRSERE cillcaueie cif
ITORIgR I a1 T4

.

Rl (R) :

F@H’I'T:E :
(A) 3=t (A) 9 (R) sRIeR 3¢ d (R)
T (A) T ITY WEIHT R

(B) T (A) F (R) SeR 31§, T
(R) B (A) 9 Iqrg TR0 TRl

(C) (A) s 3T7, Wg (R) I e

D) (A) I% 3%, TG (R) s 3T

RIS gfteRA HIOT W ?

(A) Hegaet

(B) TS 8

(C) HTh 3T98H

(D) gmE X

YN Tgdral ToY Sleteldeh! shiumed

SIS SIedl Sl ?

(A) fagra =iyt

(B) fagma =m=of

(C) TElade quTE

(D) EINEA STEET

17
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53.

54.

55.

56.

57.

According to whom “fact is an
empirically verifiable observation” ?

(A) Goode and Hatt
(B) P. V. Young
(C) Thomas Moore
(D) Durkheim

The most important factor in the
theoretical research is :

(A) Concept

(B) Research Design
(C) Interviews

(D) Laboratory

Cross cultural studies are an
example of :

(A) Case study design

(B) Comparative design
(C) Experimental design
(D) Longitudinal design

Who said that, Hypothesis is a
proposal to be examined ?

(A) E. S. Bogardus

(B) Goode and Hatt

(C) Paul Appleby

(D) Augburn

Unstructured interviews entail :
(A) Systematic questioning

(B) Reliable data

(C) Natural conversation

(D) Formal procedure

53.

54.

55.

56.

57.

JUN - 21219/I1—C

hIUT=AT Hd, L B STHEST, JHIUHT
fritero g 2"

(A) e effur g2

(B) . = 4w

(C) omH R

(D) gfEH

Tgifaer FeNeATdiel Said Hewe=l seh

(A) Fhed

(B) GIMEd Heheud

(C) Herrerdt

(D) ATl

URARH dh ST ST §
(A) T AAE Fhedd

(B) qoIcHeh HeheUd

(C) TRt Hehedd

(D) e Heheud

“TTeh T OTeTOl SRIUATST e ST
@ e v ?

(A) § wH. amed

(B) TS e g

(C) dfel fqerelt

(D) SAfTeA

T A I W QA
(A) aftgd wea fa=uma

(B) favamEe smem

(C) “Hfifer Froo

(D) 3Mq=nies gfsran

18
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58. Match List I with List IT and select | 58. ¥t I Hierd =t 11 S[esan {1 @reital
the correct answer by using the codes Tehahlqd IFd Ia aeT
given below : W I
List I
. (@) I
(@) Experiment
(b) Heerm
(b) Survey
(¢) Case study (c) =1 e
(d) Desk research (d) ¥ HEEA
List II el 11
(1) Describe, test, diagnose (1) 9o, ==, e
(2) Explain, test, evaluate (2) TIEIHIT], AT, l-l\cﬂ’«liohd
3) E.Xplore, eva.luate, describe, (3) THY, Gooich, v, e, Hehed
diagnose, design (4) TAEHI, TR, FHH, FOM,
(4) Explain, evaluate, explore, oM, Hoeqd, =
describe, diagnose, design, test et .’ ’
Codes @ ® © @
@ ® © @ A ¢ ¢
@ @ O @ @ Q@ @ O @ @
B @ B @O @ B @ 3 @O @
e @@ @O @ 3 < 2 O @ 3
D 1) @ @2 3 D 1 @ @ 3
59. In SPSS, what is the data viewer : | 59. TH.W.TH.TH. H MR TN TR/
(A) A table summarizing frequencies A R FE AR ? . 0
of data (A) STURAEUTE aRARA=! R
(B) A spreadsheet to enter data
(C) A dialogue box to choose a test (B) STHHMIT Fiose sHvgr= Tsiie
(D) A screen in which variables are (C) == frasvaEEdr HaKg «ied
defined (D) 9 SEHTE AT el U
60. What is the purpose of the | g0 viiem sredeT FHARUET SR &M
conclusion in a research report ? ST ?
(&) (Iit ;’Xpéamsa how conilepts are (A) TehoudrEl e S qad &Y
chned and measured Hel e ITd TAIHLOT i
(B) It contains review of literature ~ N
. (B) Tl Wifgcma STeEn 9l
(C) It outlines the research method N TEN
(D) It summarizes the key findings (C) = . a1 Fsd ..
in relation to the research (D) e TRIE JTel Seife Feweren
questions femuten wer S/
19 [P.T.O.



61.

62.

63.

64.

Integral view of Public Administration
does not include :

(A) Managerial activities

(B) Technical activities

(C) Clerical activities

(D) Mechanical activities

Who is the gospel of neutral
principles of administration ?

(A) Gulick (B) Mayo

(C) Simon (D) Riggs
Which is not the base for selecting
an alternative in decision-making
process ?

(A) Experience

(B) Experimentation

(C) Research and analysis

(D) Desired opinion

Assertion (A) and Reason (R)

pattern :

Assertion (A) : Public Administra-
tion is more
comprehensive
than Private
Administration.

Reason (R) : Public Administration

regulates Private
Administration.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
(D)

61.

62.

63.

64.

JUN - 21219/I1—C

T FRTTEAToEeh FATHTeRTeh Gieah
T gUIias ga e e

(A) AR H1

(B) i &

(C) faftsw +rd

(D) =if>ek
TRTTEATAT TeE =l Fardi QUM il
e ?

(A) Tfer (B) T

(C) 9= D) &=

fofa fruito gfswda g fesvamn &
YR @l

(A) v

(B) gArTSferdn

(C) Hele smfor faersor

(D) T=8id #a

faam (A) ofon sRor (R) T ¢

faam= (A) : AHIINGA BITSIT
GRSl doid  Tfereh

UE 3T

&ROT (R) : @A 93maara faed
AR .

i

(A) (A) =701 (R) Tal SRR 3TTed I
(R) & (A) = 99 foveroor o1me
(B) (A) =fo1 (R) S8 se Ted W
(R) ® (A) = I fagewo A
(C) (A) 319 318, WJ (R) & IF 3T
D) (A) & 318, W (R) TTF TR

20
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65. Decentralisation results from : 65. Tas=<iwomer aomm gar
(A) Span of control (A) T &R
(B) Delegation (B) wefaenomer
(C) Coordination (C) HH=EER
(D) Leadership (D) %I?lcr_dla'{
66. In modern times merit system of | gg. wgﬁmw@a‘r %qqﬁa?wsqaw
recruitment was first introduced 99T S qe ATt ?
n : (A) wRE (B) ¥
(A) Prussia (B) India (C) i (D) sTafE
(C) England (D) USA 67. ‘I AR I TEM, T HE U STl
67. ‘It does not command; its job is to g, ool B9 319 WciieTidh] HITeE
sell, not tell’, has been said for : /e W4 ?
(A) Functional staff (A) HEHE HHARE
(B) Control staff (B) frerster swe=ient
(C) Technical staff (C) difsreh Sy
(D) Advisory staff (D) AeaTcqs HHARET
68. Self enforcing discipline is a function | g8, " WydyE © gc‘ﬁ@aqﬂ ST T
of : e ?
(A) Command (B) Authority (A) 3TRYT (B) 9UifgshR
(C) High Morale(D) Control (C) 3=9 Afdwar (D) fa==m
69. Which rules govern pension and | g9. &g/ 1%[”“”‘1'1 rdolrl BIoTT=
gratuity to the employees retiring FHHEAFAMT FATaR o S0 gerared
from central civil departments : EAUGIRGRE ] g ?
(A) Central Civil Services (Pension) (A) S AR G (Tra<ht aa=) fm,
Rules, 1972 1972
(B) Central Civil Services (Pension) (B) @hsra A Fan (it aa) 1w,
Rules, 1969 1969
(C) Central Civil Services (Pension) (C) whsra AR Fan (et o) 1w,
Rules, 1975 1975
(D) Central Civil Services (Pension) (D) whsra AR Fan (et o) fm,
Rules, 1962 1962
21 [P.T.O.



70. Match List I with List IT and select

71.

72.

the correct answer from the codes
given below :

List I
Hatch Act
Northcote Trevelyan Report
Pendleton Act
Kothari Committee Report
List II
1833
1976
(3) 1939
(4) 1853
Codes :
(@)
(A) 3)
(B) 3)
< @ @O 3 @
D) 2 G 1 @D
Which of the following principles of

management is not propounded by
Lyndall Urwick ?

(A) Principle of Investigation
(B) Principle of Control
(C) Principle of Hierarchy

(@)
b)
(c)
d)

(D)
(2)

®)
(2)
(4)

(c)
4)
(1)

(d)
(1)
(2)

(D) Principle of Experiment

McGregor hypothesized that a
manager’s assumption about human
behavior predetermined :

(A) his administrative style
(B) his decision-making

(C) his interpersonal relations
(D) his line of action

JUN - 21219/11—C

70. =T 19 FE I &1 Sfesan 01 et

71.

72.

feiea Fehdishlqd arg 3ar faer :

gt 1
(@) BF HE
(b) Ffdwle Ixfead ITEama
(¢) Useted HIIQ
(d) Hel dfd eTeard
e 11
(1) 1833
(2) 1976
(3) 1939
(4) 1853
i
(@ b)) (© (@
A Q) 2 @ @
B B @ @ @
< @ 1 G @
D 2 & 1O @

GTEATeTdeh! ShIU SR < faee
A T el ?

(A) qUEUiE q

(B) fr=om a@

(C) IS <

(D) T d

FEETIehTe STTHM § g8 Miia 3 :
(A) = TRITESRE el

(B) =t fuia wfwen

(C) = SAAfFTh Fa

(D) =t wE fomm

22
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73. Taylor’s scientific managment was | 73. SoI{= JAeh HILATIH qﬁsﬁmgﬂl——[
first known as : ANEe S| o ?
(A) Scientific Management o i
(B) Time Study (A) IMEHE FAEAGA
(C) Rubble Hypothesis (B) §HI 118
(D) Task and Bonus Management (C) Eed HehadH Tl
74. Who was a key figure in the (D) ek o 99 SHOEIgT
establishment of Administrative | 74 e-3-9=g = stefafefes wm®
staff college at Henley-on-Thames ? FEE T TR Sy
(A) Lyndall Urwick ; kA
(B) Luther Gulick gt 2
(C) Henri Fayol (A) feiere Seffen
(D) Fredrick Taylor (B) <R A
75. Human Relations Theory believed (C) T ®IA
that people are : (D) BefE 2R
(A) Homogenous .. .
(B) Heterogenous 7. H 5“ jia? ST efrehra foram
(C) Atomistic GrefeTdeh! Tehlal 319l ¢
(D) Economic men (A) TH&GT
76. Assertion (A) and Reason (R) (B) fasmedt
Pattern : S IUEED
Assertion (A) : Taylor’s primary ©)
concern was (D) sl HTT
management at the | 76. T8 (A) (0 %1 (R) T -
supervisory level e (A) @ TR TR SHaeaH
and gave much B oA e fear =it smfor
stress on  the hIATE WER hITTR ST
efficiency of workers . SN
and managers at A= Yeh Il enlHA&HAC
operational level. 3#%"'_""\'7 W e
Reason (R): Scientific management HRUT (R) : YMSHT HeRAYA & AT
is just a mental o A SRS S
revolution for both THfas Hidt ST,
employer and dEaiE
employees. :
Codes : Py (A) (A) 9 (R) S8 SR 3Ted 3TIfuy
(A) Both (A) and (R) are true and (R) T (A) & 3T TR T8
(R) is the correct explanation (B) (A) 9 (R) Sl ssR 3Mled, W
(B) ]%f éﬁ)(A) d R) true but R) B (A) 9 3Tk TILIHL0T ARl
0 an are true bu ~ .
(R) is not the correct ©) ;‘_‘é% TR 38, /Y (R) & TF
explanation of (A) )
(C) (A) is true but (R) is false (D) (A) T I% e, T (R) & TR
(D) (A) is false but (R) is true e
23 [P.T.O.



77.

78.

79.

80.

Match List I with List IT and select
the correct answer by using the codes
given below :

List I
The Art of cutting metals
Dynamic Administration
The Human side of Enterprise
Fundamental Research in
Administration

List II
1953
1941
(3) 1906
(4) 1960
Codes :

(a)

A) (D
B 3 @)
e 38 1O 2 @
D B @ 2 @
Who is considered as the pioneer of
the New Public Administration ?
(A) Dwight Waldo
(B) Ferrel Heady
(C) Christopher Hood
(D) Both (A) and (C)
Who elaborated the term
‘consumerism’ in the context of post-
modernism ?
(A) Nietzsche
(B) Derrida
(C) Michel Foucault
(D) Jean Baudrillard
The foundation stone of motivation
theory is the integrated wholeness
of :
(A) The organism
(B) The organization
(C) The society
(D) The nature

(@)
)
(c)
(d)

(1)
(2)

)
3)

(c)
4)
4)

(d)
(2)
(1)

77.

78.

79.

80.

JUN -21219/11—C
T 1 Faa T 11 Sesan ST @retta

HhARRT T I oSl :

el 1
(@) T R 3% HeM Hea™

(b) TEHE FSHALIH
(c) YT FES h TR
(d) wered REd g sfefiree™
gar 11
(1) 1953
(2) 1941
(3) 1906
(4) 1960
Hehdich
(@ b)) (©© (@
A @O G @ @
B 3 @ @ @
© 3 1O @2 @
(D2 @) @ @ @ )
A9 Al ARNHATA  HldHdden <h[UIH
A Sd ?
(A) EdrEe el
(B) wd &<t
(C) fgsw g8

(D) (A) sufor (C) <=t
I-YfTehc=a1 HeHid ‘SuHRER ' &
TeheuqT wIoit fowaiRa shell ?

A) &

(B) =Rt

(C) ¥ waHI

(D) A SRS

ARTIOT fagTaren MUY & A
Tehihd QU 3T9d :

(A) Tfse =

(B) Tee

(C) THSt

(D) Wt
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81. During the Mahabharata period, the | 81. HEIYRd HA@SETTH IO a1 -0
state has been called as : M@l S ;
(A) Rashtra (B) Saptanghi (A) T (B) T
(C) Janapada (D) Vish ©) = D) e
e s e 2 0 | et e o
essentially on : AT A AR S al
(A) European System (A) W AT
(B) Modern System (B) STYfTeh =Toreen
(C) The Ancient Indian System (C) UM IR T
(D) The Mughal System (D) HFTA FaEen
83. Recruitment to the ICS came to be | g3  gm.diuwg.< =t gFa qofd: TorERT
based totally on merit, after : e =R
(&) 1773 (B) 1855 (A) 1773 (B) 1855
(C) 1892 (D) 1922
84. Which one of the following (©) 1892 . (D3 \\19“22\
constitutional powers is not enjoyed | 84 AT AU T <HIOMdT Teh
by the President of India ? TS AfFRR T 2
(A) Appointment of Governors of (A) TSI TSI AU
State (B) frdemeia sifer
(B) Enjoys discretionary powers () T T
(C) Grants pardons D) SR FE
(D) Promulgates ordinances - ) -
85. Who did not act as the Deputy Prime 8. :lg:lt; STHAAIAT = ol gﬂﬁﬁ
Minister of India ? '
(A) Morarji Desai (A) wRIS <
(B) Charansingh (B) =vifEm
(C) Lal Bahadur Shastri (C) el SI@Ig St
(D) Devi Lal (D) <ot e
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86.

87.

88.

89.

Who has recommended three-fold
(Imperial, provincial and subordinate)

classifications of civil services ?
(A) Aitchison Commission
(B) Lee Commission

(C) Maxwell Commission

(D) Islington Commission

‘Sandwich Pattern’ of training for the

IAS probationers started in :

(A) 1986 (B) 1976

(C) 1979 (D) 1969

The single window system was first
adopted in Union Public Service
Commission in the year :

(A) 2013 (B) 2012

(C) 2011 (D) 2010
Which one of the following
statements is incorrect regarding
the concept of public interest
litigation ?

(A)
(B)

It is related to social welfare

It safeguards the interests of

common man

(C) It is a case fought in the

interest of people
(D)

It safeguards the interests of

Judiciary

86.

87.

88.

89.

JUN - 21219/I1—C

T Ao eE (9T, g
o1 fs3) efien<om= P& o
ETSI

(A) sffere smEm

(B) =it smEm

(C) Hergerel |

(D) z@fefmed s

Y. U. UE. yRateniaeen  d-sfaw
Jed'= givreror =1 auid g ol

(A) 1986 (B) 1976

(C) 1979 (D) 1969

e s HaT ST Uk st sae
J ua geH WeRe oRil

(A) 2013 (B) 2012

(C) 2011 (D) 2010

STfed Afeehaae! BIeeTden! vk T
Ieh AE ?

(A) T WIS Hedol |IEd

(B) I 9E=I HIUER oIl qierd

(C) 4 Sd=n feadsl wed oiead

(D) T TSl TR I
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90. Assertion (A) and Reason (R)

91.

Pattern :

Assertion (A) : The National
Security Council
was established in

1997.

Its need was felt
because the Prime
Minister wanted
expert and popular
advice in defence

Reason (R) :

policies of the
Government.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Consider the following statements
about the Governor of a state who
has the power to appoint :

(1) dJudges of the High Court

(2) Members of the State Public

Service Commission

Members of the State Finance
Commission

(B)

3)

The Accountant General

4)
Which of the statements given above
are correct ?

(A) (1) and (2)
(B) (2) and (3)
(C) (1), (3) and (4)
D) (2), (3) and (4)

JUN - 21219/11—C

90. faum (A) smfor RO (R) T :

91.

o™ (A) @ e gren aREeET wre

1997 HEA TG

T TS AT, ANTe Bt
HTUT IITEATSAT G &I
IO q S0 g=iferd
Toodrd]  AEvISwal Ud-
FYHMAT el

<Rl (R) :

Hehdich :
(A) (A) 9 (R) St e 3TTed, ST
(R) & (A) & 3T TR S

(B) (A) ¥ (R) Bre! aUeR 37ed g (R)
T (A) T IEH TSI AR

(C) (A) SR 318, T (R) B I M
D) (A) I% T8, g (R) T s TR
A AfFHRIeTed Eeted faemrE
fo=m +U

1
(2)

3T AT ~ATTENST

T ik 9l AR e
(3) T fod NN W&

(4) HRAEITA

FieTdehl hIvt faem 9rg smea ?
(A) (1) =t (2)

(B) (2) sfur (3)

(C) (1), (3) =Afur (4)

D) (2), (3) =for (4)
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92.

93.

94.

The Council of Minister of a state
deals with the following matters :

(1) Governor’s address to the
Vidhan Sabha

Fixing the time, place and
agenda of cabinet meetings

(2)

3)

Proposals to refer any matter to
the zonal council

(4)

Important policy matters,
including changes in the
existing laws

Chose the correct code :
(A) Only (1)

(B) Only (2)

(C) (2), (3) and (4)

(D) (1) and (2)

The positions enjoined upon the
Chief Secretary of the state are :

(1)
(2)

Secretary to the Cabinet

Chief advisor to the Chief

Minister
Chief of the secretaries

3)
(4)

Representative of the state in
all legal matters

Select the correct answer by using
the codes given below :

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1), (2) and (3)

(D) (1), (3) and (4)

For the first time in the history of
District Administration Collectors
were appointed in the year :

(A) 1772 (B) 1781

(C) 1919 (D) 1935

92.

93.

94.

JUN -21219/11—C
TN AiAHSe Tela el giamed
(1) fauraadia Tsguer stfaamo
(2) WiHSes dShIEl Fos, SN (0T
SR =
qRHeeg qRoess TER! o 95l
FHLOATETS FEAE 00

FTIE AT HTACATHIS!
YUROTHE Hewee gR0 foaoy

I Gehdreh e

(A) W (1)

(B) &K (2)

(C) (2), (3) emfor (4)

(D) (1) efor (2)

T A Fiearer Siv-shIoe T

I S|l ?

(1) wfHeamE af=d

(2) AT W@ HeATTR
(3) HieeeE=T Jq@

(4) TE HEIR drefed Tegrn Hafef

o

feciedl Hehdishia®d AT I

3)

(4)

fal
CINIY|

IREER

(A (1), (2) 1o (4)
(B) (2), (3) afur (4)
(C) (1), (2) =l (3)
(D) (1), (3) =TT (4)

fSTeel gemErea e feieiieent-
. N N b\
AT AU IV TSI hedl 7

(A) 1772 (B) 1781
(C) 1919 (D) 1935
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95.

96.

Which of the following statements
is not correct ?

(A) Gram Sabha is representative
body

(B) Gram Sabha is constitutional
body

(C) Gram Sabha is lowest unit of
Indian local self government

(D) Gram Sabha is created by the
73rd Amendment of the
Constitution

Assertion (A) and Reason (R) pattern :

Assertion (A) : Chief Minister is
formally appointed
and removed by the
Governor.

Reason (R) : District collector is
formally appointed
and removed by the

Chief Minister

Answer the question using the below
given codes :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

()
(D)

95.

96.

JUN - 21219/11—C

TTeleush! i foum o e ?

(A) THEYT & TfaHfees Sedh 3Tg

(B) UHEM B SAHS: HHh 3TE

(C) THE B YRAI T1feh Semaa
T il ek 3R

(D) UTHETT B 73T HSAQGEETTHR
fafor sheft 31me

faum (A) &fr R (R) A1 ¢

faam (A) @ TS STEERTr Y-

Frgedt aTfor sl

TN
AT,

HROT (R) : q&aast oftg=rfiwyn

fSTegifeeRT=arel fgerit 3T

SETKT h{dTd.
Hehdlah :
(A) (A) 9 (R) Sl sRIsR 3Tad, 3T
(R) T (A) ¥ 3T TIRIHI 3T

(B) (A) 9 (R) T=I &R 3A1ed 997 (R)

T (A) T T TIRIHRL AR

(C) (A) & SR 3T, 907 (R) T I
3

(D) (A) I% 3T, 997 (R) ¥ SR 3T
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97.

98.

Which of the following statements
is correct ?

(A) The Mumbai Municipal
Corporation Act, 1888

(B) The City of Nagpur Corporation
Act, 1949

(C) The Maharashtra Municipal
Corporation Act, 1974

(D) The Bombay Provincial
Municipal Corporation Act,
1948

Match List I with List II and select
the correct answer from the codes
given below :

List I

Taxation Enquiry Commission

(@)
(b) Committee on the Training of
Municipal Employees

Local Finance
Committee

(c) Enquiry

(d) Rural-urban Relationship

Committee
List II
P. K. Wattal
A. P. Jain
(3) Nur-ud-din Ahmed
(4) John Matthai
Codes :
(@)
(A) 3)
(B) 4)
) @)
D) 3)

(1)
(2)

®)
(4)
3)
(2)
4)

(c)
(2)
(1)
3)
(1)

(d)
(1)
(2)
(1)
(2)

97.

98.

JUN -21219/11—C
Ecteident shivd faum seR e ?

(A) HoE WeMTRUTaIehT Tfafam, 1888

(B) NTYR Y& HeMTRT(eren! SfefTam,
1949

(C) "R HeMTUTereht  AfafaH,
1974

(D) &g WiE HeTRulfereht sTfafTam,
1948

= 19 = I o Sesel 0T @
feoied Fehdiehiqd ard 3a) e :
gt 1
Eaviiciie i cayiiic Rl
(b) TRUTR! HHART Ffereor Fid
(c) Tt fo <epeit wfydt
(d) T3l Hey wiHdt
gt 11
0. &. aeed
T 0. S
(3) T-Se-fa7 ew=me
(4) S Ao
Hehdlah :
(@)
(A) (3)
(B) 4
(QNCY
D) 3)

(@)

(1)
(2)

)
4)
3)
(2)
4)

()
(2)
(1)
(3)
(1)

(d)
(1)
(2)
(1)
(2)
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99.

100.

The list of functions of municipalities
given in the twelfth schedule of the
Constitution does not include :

(A)

Planning for economic and
social development

(B)
(©)

Fire services

Promotion of  cultural,
educational and aesthetic
aspects

(D) Land management including

registration

Match List I with List II and select
the correct answer by using the codes

given below :
List I
(@) Backward Regions Grant Fund

®)

Sampoorna Grameen Rojgar
Yojana

(c)

Swarnajayanti Gram Swarozgar
Yojana

(d) Provision of Urban Amenities in

Rural Areas
List II
1999
2001
(3) 2004
(4) 2007
Codes :
(@)
(A 4)
B) 3)
©) @)
D) 1)

(1)
(2)

®)
(2)
(1)
3)
(2)

(c)
(1)
2)
4)
3)

(d)
3)
(4)
(1)
4)

99.

100.
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Gfaemrea arean afifyrsea feaen
TRUTfeTeh=aT ShTATea Aeid aral GHEST

B
(A) et emfor wmifSies faerr g
IREISE

(B) AfemHe g
(C) wiepfask, Netforw smfor digedamdt
e e 0
(D) FQUiTER e
=T 1 Hied = 1T Seod {01 @iredtel
Hhdlhlqd Ard IaR et
gt 1
(@) dFaE Ry T= e
() Sl wEor ISR A
(c) TSIt UMY TWRISFR Aretl
(d) WifsesH Ak 3161 WS 37 =
TR

g 10

(1) 1999
(2) 2001
(3) 2004
(4) 2007
Hehdich
(@)
(A) 4)
(B) 3)
C) 2
D) 1)

®)
(2)
(1)
3)
(2)

@)
(1)
(2)
(4)
3)

(d)
3)
4)
(1)
(4)
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ROUGH WORK
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